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QUESTION 1

Your team is planning a DR test for a CIFS DR solution using VNX for File. You need to confirm that users will be able
to access data at the DR site in the event of a source site disaster. The VNX at the source site will not be shut down
during the DR test. 

How should you proceed with the test? 

A. Replication switchover from the source VNX 

B. Replication switchover from the DR site VNX 

C. Replication failover from the DR site VNX 

D. Replication failover from the source VNX 

Correct Answer: A 

 

QUESTION 2

What do primary and standby Control Stations use to monitor each other? 

A. nasmcd 

B. shared quorum disk 

C. nbsnas 

D. nasdb 

Correct Answer: B 

 

QUESTION 3

A customer placed their application data on a thin LUN created from an existing pool. The thin LUN is reaching capacity
and cannot be expanded due to capacity constraints on the pool. 

What is the best way for the customer to reclaim some of the capacity on the thin LUN? 

A. Compress the thin LUN 

B. Defragment the thin LUN 

C. Migrate the data to a new LUN on a new pool 

D. Migrate the data to a new LUN on the same pool 

Correct Answer: A 
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QUESTION 4

You are implementing SAN Copy for Linux hosts connected to an EMC VNX using FC and iSCSI connectivity. There are
eight queued sessions and multiple applications contending for bandwidth. Which configurable SAN Copy feature would
you recommend? 

A. Fibre Preferred 

B. SP Reboot 

C. LUN Trespass 

D. admhost 

Correct Answer: A 

 

QUESTION 5

When setting up an AVM created file system, the storage administrator set the "is_greedy" option. When they look at the
underlying structure of the newly created file system, they notice the file system is sliced. What is the reason for this
behavior? 

A. The "is_greedy" option is ignored on mapped pools. 

B. User defined pools do not use the "is_greedy" option. 

C. Auto extend option is supported with mapped pools, but only with non-greedy AVM-created file systems. 

D. A slice is created by default, then a metavolume is placed on top of the slice for the file system ignoring the
"is_greedy" option. 

Correct Answer: A 

 

QUESTION 6

Which RecoverPoint/SE Consistency Group copy consists of all of the volumes that are the targets of replication for a
specific Consistency Group? 

A. Local Copy 

B. Production Copy 

C. Repository Volume 

D. Journal Volume 

Correct Answer: A 

 

QUESTION 7

You are planning for fracture granularity. 
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What granularity should you use to track updates to a 1 TB clone source LUN? 

A. 64 KB 

B. 128 KB 

C. 256 KB 

D. 512 KB 

Correct Answer: A 

 

QUESTION 8

A customer wants to expand FAST Cache on their VNX with MCx. They are concerned about performance impact until
the new FAST Cache has been created. 

What advice would you give the customer regarding the performance impact of changing the FAST Cache size? 

A. Destroying the existing FAST Cache should be done during a period with low I/O activity, followed by the creation of
the larger sized FAST Cache. 

B. FAST Cache can be expanded non-disruptively without any performance impact. 

C. Before adding extra drives to the existing FAST Cache, the Read Cache should be disabled and then re-enabled
after the expansion has finished. 

D. Before adding extra drives to the existing FAST Cache, the Write Cache should be disabled and then re-enabled
after the expansion has finished. 

Correct Answer: A 

 

QUESTION 9

A customer has a RecoverPoint/SE environment with VNX arrays. What would trigger a full sweep of a volume? 

A. Direct Access mode is enabled. 

B. Virtual Access mode is enabled. 

C. The WAN link between clusters becomes degraded. 

D. The assigned primary RPA for a Consistency Group is changed. 

Correct Answer: A 

 

QUESTION 10

You are implementing a VNX using AVM, and you cannot create any more dvols from their remaining classic LUNS to
create a stripe volume. 
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What could be a reason for this? 

A. LUNs must come from different RAID Groups. 

B. LUNs must have different RAID configurations. 

C. LUNs must not exceed 18 TB in size. 

D. LUNs must come from the same RAID Group. 

Correct Answer: A 

 

QUESTION 11

You are planning a CIFS DR solution for two existing EMC VNX. Each VNX has dual Control Stations. Each VNX is also
configured for a RecoverPoint protection solution on other VNX LUNs that are non-file related. What recommendation
would you give the customer concerning the CIFS DR solution? 

A. Configure IP aliasing on the Control Stations for both source and destination VNX systems before configuring VNX
Replicator 

B. Configure IP aliasing on the Control Stations for both source and destination VNX systems after configuring VNX
Replicator 

C. Configure IP aliasing on the source VNX system Control Stations before configuring VNX Replicator, and then
configure IP aliasing on the destination VNX system Control Stations after configuring VNX Replicator. 

D. Configure IP aliasing on the source VNX system Control Stations before configuring VNX Replicator and use
RecoverPoint to provide protection of the source VNX Control Stations to the destination VNX. 

Correct Answer: A 

 

QUESTION 12

You implement a CIFS DR solution for a customer using the One-to-Many replication topology. They ask you to explain
replication behavior under the following conditions: 

Production site failover or switchover to a DR site 

Replication start and reverse is performed 

What should you advise the customer? 

A. The original production site goes into cascade mode to synchronize data for the remaining DR sites. 

B. The original production site remains a One-to-Many replication source for the other DR sites. 

C. All remaining replication sessions to the other DR sites are suspended. 

D. The DR site becomes a replication source for the other DR sites; the original production site is marked as invalid. 

Correct Answer: A 
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QUESTION 13

A customer is testing their new MirrorView/A configuration between two EMC VNX. What will be the state 

of a newly created mirror after it is added to a previously synchronized Consistency Group? 

A. Quasi-consistent 

B. Out-of-sync 

C. Synchronized 

D. Consistent 

Correct Answer: A 

 

QUESTION 14

What drives the storage sizing requirements for VDI? 

A. desktop/drive density 

B. desktop/drive capacity 

C. desktop/drive type 

D. desktop/drive rpm 

Correct Answer: A 

 

QUESTION 15

A storage administrator reports they are unable configure SAN Copy connections between two VNX. The required
cabling is in place and zoning is correct, but the SP connections still do not appear in Unisphere Manager. What could
have caused this issue? 

A. SAN Copy is not installed on both VNX arrays. 

B. SAN Copy is only licensed for local copies. 

C. The SP ports are already being used by hosts. 

D. Both VNX arrays are not in the same domain. 

Correct Answer: D 
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